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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL� WLQJNDW� NHVHMDKWHUDDQ� SHQJUDMLQ�
DQ\DPDQ� PHQVLDQJ� GL� -RURQJ� 7DUDWDN� 1DJDUL� .XEDQJ� .HFDPDWDQ� *XJXDN�
.DEXSDWHQ����.RWD�

3HQHOLWLDQ� LQL PHQJJXQDNDQ� GDWD� GHVNULSWLI� GHQJDQ� SHQGHNDWDQ� NXDQWLWDWLI��
UHVSRQGHQ�GLSHUROHK�PHQJJXQDNDQ� WHNQLN� WRWDO� VDPSOLQJ \DQJ�EHUMXPODK�VHEDQ\DN�
��� UHVSRQGHQ� 3HQHOLWLDQ� LQL� GLODNVDQDNDQ� GL� -RURQJ� 7DUDWDN� 1DJDUL� .XEDQJ�
.HFDPDWDQ� *XJXDN� .DEXSDWHQ� ��� .RWD� 7HNQLN� SHQJXPSXODQ� GDWD� SHQHOLWLDQ��
PHQJJXQDNDQ�DQJNHW�GDQ�WHNQLN�DQDOLVDK�GDWD�PHQJJXQDNDQ�IRUPXOD�SHUVHQWDVH�GDQ�
VNDOD�OLNHU��

9DULDEHO�\DQJ�SHUWDPD�WHQWDQJ�NHVHMDKWHUDDQ�SHQJUDMLQ�DQ\DPDQ�PHQVLDQJ�GL�
MRURQJ� 7DUDWDN� 1DJDUL� .XEDQJ� .HFDPDWDQ� *XJXDN� .DEXSDWHQ� ��� .RWD� VHEDJLDQ�
EHVDU�WHUJRORQJ�NHVHMDKWHUDDQ�UHQGDK�����������9DULDEHO�\DQJ�NHGXD�IDNWRU�SHQHQWX�
WLQJNDW� NHVHMDKWHUDDQ� SHQJUDMLQ� DQ\DPDQ� PHQVLDQJ� GL� -RURQJ� 7DUDWDN� 1DJDUL
.XEDQJ� .HFDPDWDQ� *XJXDN� .DEXSDWHQ� ��� .RWD WHUPDVXN� NHVHMDKWHUDDQ� UHQGDK�
GHQJDQ� PHPLOLNL� UDWD�UDWD� VNRU� ���� 'HQJDQ� GHPLNLDQ� GDSDW� GLVLPSXONDQ� EDKZD�
VHFDUD� XPXP� WDUDI� KLGXS� SHQJUDMLQ� DQ\DPDQ� PHQVLDQJ� GL� -RURQJ� 7DUDWDN� 1DJDUL�
.XEDQJ�.HFDPDWDQ�*XJXDN�.DEXSDWHQ����.RWD�WHUJRORQJ�EHOXP�VHMDKWHUD�
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